
http://thepracticetest.in/cs_chsl/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=2201007592&scode=155&key=b1204ee9d9f6c0eedcbe1a4ad1202787


















































Options:
1) tough
2) though
3) through
4) Thorough
Correct Answer: though
Candidate Answer: though
 
QID : 299 ­ In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives. 

That is why publicly invoking these symbols has to be an act of responsible citizenship and not self­____________ demagoguery, but the
difference can be hard to _______________. The problem with emotive symbols is that _________________ they can multiply the force of
arguments, they cannot replace the arguments__________________. All persuasion harnesses symbols but principled persuasion must also
provide arguments that can be _____________ debated.

they cannot replace the arguments__________________.
Options:
1) yourselves
2) yourself
3) by themselves
4) themselves
Correct Answer: themselves
Candidate Answer: themselves
 
QID : 300 ­ In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives. 

That is why publicly invoking these symbols has to be an act of responsible citizenship and not self­____________ demagoguery, but the
difference can be hard to _______________. The problem with emotive symbols is that _________________ they can multiply the force of
arguments, they cannot replace the arguments__________________. All persuasion harnesses symbols but principled persuasion must also
provide arguments that can be _____________ debated.

principled persuasion must also provide arguments that can be _____________ debated.
Options:
1) absurdly
2) carefully
3) rationally
4) friendly
Correct Answer: rationally
Candidate Answer: rationally
 

 




